N R EF (A &R A

R BBRE SL BT B 1 S A R | B = i e T3

R Bl £ 85 X B e T — T H

THEEBRHEEOS T 34 117 1THET

fERTdE TH—K

& A & B (1)
1 = 69,638,218
1 = 7,548,831
1 = 7,540,774
1 \ 11,336,177

96,064,000

95,919,000




Za PR 5 B AL 4 (M) fi
1. BEYE T HE =X 29,001,178
2. X Lo =X 5,845,140
3. Wb i 9 =X 34,791,900
t 69,638,218




HprddE T HBIER

%

PR

%

o

HLAY

g

#H

T E T 9

29,001, 178

29,001, 178




HprddE T B HBIPER

R (e T
% P ¥ BB & # L
15 55 8T - 22 f-1EAT
1 7,481, 204
X
2PE T FEPT - Lo T
1 7,237,516
X
W& TEAT - Lo T BERT
1 7,121, 282
X
APE T - EPT - Lo T
1 7,161, 176
X

at

29, 001, 178




HprddE T PR A BIPER

e T
BB 4 W A = ¥ & |BiL] & #H fifi
LBESS 8T + Lo r{EpT TELHE %
1 599,910
=
LRSS 18R - LT KETH
1 5,817, 203
2V
LBESS 87T - Lo r{EpT LT H
1 959, 070
=
LRSS 18R - Zof{s T LY b LR
1 105, 021
2V
7,481, 204
205 5 1T - T B
1 265, 116
e
2B FERT - kT SiE T
1 5, 950, 355
=
205 5 1T - T WETH
1 919, 065
e
2B FERT - T L 2 LR
1 102, 980
=
7,237,516
SWET FAEFT + LT TELHEA %
1 265, 116
=
3B FERT - 2 ERT KIETH
1 5,798, 125
="
3PS FHT - ST kT
1 953, 020
=
3B FEPT - 2 ERT L0 2 LRAM
1 105, 021
="
at
7,121,282
AW TR - T EET ELHEARRR
1 265, 116
=
ABE S FERT - BT KETH
1 5,838,019
=
AW T - LT WETH
1 953, 020
=
ABE S FERT - BT LY b LA
1 105, 021
=
7,161,176




